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1| TFRE-1 WA [ TR XIRER 6 % 14 3, 800, 000 3, 900, 000 2.6

2 |TRHE-—2 WA [ TREX=F %4 2, 810, 000 2, 880, 000 2.5

3 |TtH—4 HoAl  [TANHKERT T H 1 0% 44 2, 400, 000 2, 470, 000 2.9

4 |[THRHE-3 WA [ TREXZFI12%F10 2, 110, 000 2,170, 000 2.8

5 |#k—6 HOAl  [BXAAARETHEHI36 781 2, 040, 000 2, 120, 000 3.9
[AAARS—13—1]

6 |#k—4 WHAS  |[EXEHFILIUTH48 7% 1, 650, 000 1, 740, 000 5.5
(A#HL4—26—18]

7 |#E—3 HAER  [EXERMAA=TH4%& 2 1 1, 610, 000 1, 680, 000 4.3
[PERifE3—15—8]

8 |#k—5 WHAS  |[EXEFLLETH274% 1, 420, 000 1, 500, 000 5.6
[FE#&IL7—13—5]

9 |[EHr—1 WA [BARKMEmM=TH16%1 4 1, 340, 000 1, 420, 000 6.0
THERi3—16—6]

10 |#—7 WA [EXEMA=TH4%2 3 1, 320, 000 1, 390, 000 5.3
FHFiA3—4—9)]

10 |#—9 HoAl  [EXEWIUTHE1%3 4 1, 300, 000 1, 390, 000 6.9
[Z/H4—5—16]
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1 [#Hhs5—13 HRHES [T H 2% L 94 38, 900, 000 41, 900, 000 7.7
FT#RfE2 —6 — 171

2 |hR5—14 HHR |[HFRXEREARSTHAE 1 344 217, 400, 000 30, 700, 000 12.0
F#RfE6 —8 — 3

3 [FRES5—1 R | TRERALON=ZT B 2 &4 25, 500, 000 26, 300, 000 3.1
FHOHN3—3—1]

4 |[H5—-14 HoRHE  |[EXAEFIL=TH3 3%&2 24, 200, 000 25, 700, 000 6.2
Fdt#HFIL3—5—30]

5 | TRHEHS—24 [FH5# |THREXKFEI—THSZES3 94 24, 300, 000 25, 100, 000 3.3
TRFHT1—8—1]

6 |[H1E5—4 WS (e RERTE — TH1 8% 2 18, 000, 000 19, 000, 000 5.6
Fr#HEL1—18—2]

7 |#HES5—10 WS [ErE oETE = T B 5 & 24t 16, 900, 000 17, 900, 000 5.9
T#E3—5—4J

8 [Fhs5—6 WA PR BEABEI—-THSE 2 16, 000, 000 17, 300, 000 8.1
THAME=EIT1T —5— 3]

9 |#HmEs5—2 HEH  [FrEXEE =T HS802%64+ 16, 000, 000 17, 000, 000 6.3
(3 —18—5]

10 |5 —3 KB | RBRT H g KR A 4RI 4 6 % 1 4+ 14, 200, 000 16, 800, 000 18.3
FrAfEMT 7 — 2]
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1 [#9—1 WA [EXEERE=TH1E2 74+ 957, 000 995, 000 4.0
MEFE3—22—34]

2 |[KE9—2 HoAt [ KHEKEmE=TH1 3%3 418, 000 439, 000 5.0
FEfmE3—1—11]

3 [E#E9—1 WA [T HE T HG6 2 6% 34 378, 000 400, 000 5.8
w2 —3—2]

4 [Hbo—1 WA (BT H 3 3% 14+ 299, 000 312, 000 4.3
[y 2 —33—1 1]

5 [[L#E9—2 Bl [EEREKEASGENTHL 2% 1 2 265, 000 280, 000 5.7
[#AE4—3—-17)]

6 |[KH9—1 WA [ KRERREG - TH7E27 - 278, 000 -
[rERs2—7—16]

7 [HREk9 —1 KBF [ R R E/MEL TH1 7% 5 247, 000 248, 000 0.4
FHR/IMEL—17—7)]

8 [Bx9—1 HoAt RS X TERET2 156 238, 000 245, 000 2.9
BT 1—21]

9 [R#EH9—1 KU [ RITHREXREEFE 3 TH8%E 1 3 232, 000 235, 000 1.3
[H23—8—8]

10 |#db9o —1 PRZR)IR (RiET#EALX T4 TH 1 0 7 334 231, 000 234, 000 1.3
[mr4—13—6]
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1 [#Hhs5—13 HORHE [T H 2% L 94 38, 900, 000 41, 900, 000 7.7
FT#RE2 —6— 171

2 |hR5—114 HHER |[HHRXEREARSTHAE 1 344 217, 400, 000 30, 700, 000 12.0
T8 6 —8 — 3

3 [FRES5—1 R | TRERALON=ZT B 2 &4 25, 500, 000 26, 300, 000 3.1
FHoOHN3—3—1]

4 |[#5—-14 HRHER  |[EXAEFIL=TH3 3%&2 24, 200, 000 25, 700, 000 6.2
Fdt#HFI3—5—30]

5 | TRHES—24 [H5# |THREXKFEI—THSZES3 94 24, 300, 000 25, 100, 000 3.3
TRFHT1—8—1]

6 |[#H1E5—4 WS (e RERTE — TH 1 8% 2 18, 000, 000 19, 000, 000 5.6
Fr#HEL1—18—2]

7 |#HES5—10 WS [ErE oETE = T B 5 & 24t 16, 900, 000 17, 900, 000 5.9
T#E3—5—4J

8 [Fhs5—6 WA PR BEABEI—-THSE 2 16, 000, 000 17, 300, 000 8.1
THAME=EIT1T —5— 3]

9 |#HmEs5—2 HEH  [FrEXEE =T HS802%64+ 16, 000, 000 17, 000, 000 6.3
(3 —18—5]

10 |5 —3 KB | RBRT H g KR A 4RI 4 6 % 1 4+ 14, 200, 000 16, 800, 000 18.3

FrAfEMT 7 — 2]




